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And if she became heated on account of the climbing; he is liable

Overview

The m1wn first teaches us that if one rented a donkey to go with it in the valley, and
instead went on the mountain; if it became heated and died the 721 is M5. Then the
mwn states that if it became heated because of the climbing he is 2°°1. Our mM»dOIN
explains how we can determine how it died.

mooin asks:
= 15909 YYD HNNNK XHYT M0 9D NN 2INPT XY 139975 1357) 9NN ON)

And if you will say; in the previous case where the 1wn states, ‘if she became
heated on the mountain (when he was supposed to go in the valley); he is 9w®’,
but how are we to know that the 7117 did not get heated because of the climb?!

NID0IN answers:
= 11290 19 9NN NN NIV R NNTYY NNOYA NNPNIN RIY 1IINRIT 9219 U

And one can say; that we saw that she was not overheated while she was
climbing up the mountain, for she went up without difficulty, and walked for a

long time (on the mountain) afterwards -
99091 750 NP NNPNM XY 19 ONX) NHNIN 391 TN DY NNYH KD

And she was not sweating, and only later she became overheated, therefore it is
evident that she did not become overheated because of the climb, so he is 9 us.

Summary
The ruling of M5 772 7nmMA, is only in a case where we can ascertain that she was

not 75vn nann anmia (she walked up the mountain without any difficulty, etc.).

Thinking it over

What would be the ruling in a case where it was 772 7nm7, however we are not
certain whether the animal was 32y nann 72m3 or not. Will the 19w be 21 or
105?22

"'How can the mwn make a blanket statement that 972 7m;7 is M9 (since she certainly would have been nvpaa anm);
perhaps she was 177vna niann A2 7ama (from the exertion of climbing the mountain).
2 See TM2N7 WD XN # 78-9.
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